CBSE Class 12 Sociology Question Paper 2019 (March 11)
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Code No.

Roll No. 37T To1d |

Candidates must write the Code on the
title page of the answer-book.

¢ FUNTA M AP T IAHAAAGAIE 78 |

o UH-UA H i B1Y h R 1T T hig TreR i B IAL-Jf&iehl o JE@-I8 T 1@ |
o FUIT T R A fh HUH-ITA T 25 T & |
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e U YH-UA I Ued & U 15 fiee o1 oo foam = 8 | 9v9-9a o1 foawr gaig |
10.15 &S TohaT ST@M | 10.15 &9 € 10.30 &S G B shdd I¥H-93 I Tetl AKX
39 37AY & ST d IA-YIEIhT T g I &l [eE |

e Please check that this question paper contains 7 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

HATSTIMNHA
SOCIOLOGY
[FerRa a7 : 3 T2 37erBad 3% : 80
Time allowed : 3 hours Maximum Marks : 80
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(iv) YT GEIT15-21 TF TI-FH TTA JIHE | JIH JoT H 4 3F 5 | 579 &
Yk Jo7 T I 80 Fed] G 3718 7 781 5141 FI5T |
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g Y Y97 T 37 200 Fecl & 37eh HT 787 8147 TIN50 | 97 G&IT 25 FH7

3T 13T 7T 377=89¢ & ITIR W 547 & |

General Instructions :
(1) There are 25 questions in all.
(11)  All questions are compulsory.

(111) Questions no. 1 — 14 are short-answer type questions carrying 2 marks

each. Answer to each question should not exceed 30 words.

(iv) Questions no. 15— 21 are long-answer type questions carrying 4 marks
each. Answer to each question should not exceed 80 words.

(v)  Questions no. 22 - 25 are very long-answer type questions carrying
6 marks each. Answer to each question should not exceed 200 words.

Question no. 25 is to be answered on the basis of the passage given.

dug h
SECTION A
1. "Ik SiEshR =T & 2 9
What 1s social exclusion ?
2.  UsH Y & IEN 31g¥T 1Y hl F1 T @ ? 2

According to Adam Smith, what is meant by the invisible hand ?
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@Al g3 YA 319Td fohd I8 ¥ 3 g2l H =1 sl R0 &H SATdT & 5@l
SHEEAT U | SISl 3W o ANl Shl T ATk Bl | ? 2

HAJT

TRA o fO9s TSI H 910 99 a1 Taiys Ifaemae a0 & RO 6l 98
hITTT | 2

Why is rising dependency ratio a cause for worry in countries that are
facing ageing population ?

OR

Identify the reasons for different replacement levels found 1n the
different States of India.

TSI &3 H T&d 918 8 &M &d & ? 2
How do interest groups operate in the political area ?

WA HTNT H B el FHTER-GAT bl Jfg o R T 3 ? 2
What are the reasons for the growth of Indian language newspapers ?

feheg] <l Higell |1 < AT TSy | 1+1=2

Name any two women organizations.

gAY Sgd-Hl FiEmiah gomd v yfaee fhE Jehr g vk gy § Heg

gd & ? 2
AT

h{cT <hl THISA STAITEAT & 18 HiH4-8 HRH 9T Jd & ? 9

Many of our cultural practices and patterns can be traced to our agrarian
background. How ?

OR
What are the factors behind Kerala’s mixed economy ?

HTEhideh Tafaed fohd Yeh hl hide THITAAT =hl T&d il & ? 2

raT
ITYHETS UHITde €Y H HHIAR 8 Bd & ? 9

How can cultural diversity present tough challenges ?

OR
How are minorities politically vulnerable ?
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T Hi{SAT Alehdd bl T & U fop9 ®9 0 <719 a1 2 2

How does mass media function as a watchdog of democracy ?

1970 % STk H TohEMI & AU TGl bl Tobd Ie¥AT € & AT TAT AT 2

With what objectives did ‘new’ farmers’ movements begin in the 1970’s ?

HEh[oh{u] HTHTISIeh Tiad- hl JishaT hd & ?

AT

HATSISMEN HdisT T9dTd g 9dU U 3eRdTe 3 &asdl o 90 fo=aR
IR ST o YR H AT, I8 Yg9M |

How 1s Sanskritization a process of social change ?

OR

New 1deas of liberalism and freedom emerged in colonial India as stated

by sociologist Satish Saberwal. Identify them.

TR AZH. o TS 4 hy ARG iR I FHel H e & U
34 Hdeh sH1 a1 8 ?

How has the formation of AITUC made the colonial government more

cautious in.dealing with labour ?

“gra Hifedqr gan ¢k Sfae 1 T fewmr 8 |7 39 $U9 & gHYA H his a
38T ST |

“Mass media 1s a part of our daily life.” Give any two examples to support
the statement.

37U HTST 4 BN GHTS hi fhd Toh & THTd TehaT 2

HAAT

YSiteng & A 8 U8l o 3T YSiaral G- o A (HHSI-HHE10) § ogd 3Ties
IR 8 | HIUT IqT3Y |
How has English language impacted our society ?

OR

There are vital differences between empire building of pre-capitalist
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SECTION B

Set, &A1 AR FrHTSeh TG <hl W& H 9gd AdL 8idl @ | GHEASY |

Literacy varies across gender, regions and social groups. Explain.

TSI ST ol Teh ATHTeh €T o €9 H &y ¢@d & ?
3T
YRd § IYHSREIG o AN H AYSAGEAT T Teh 81 3TA-4IA Tohd TehK 37T5 ?

What is a sociologist’s view on market as a social institution ?

OR
How did the advent of colonialism in India produce a major upheaval in
the economy ?

Sl I3Fd hIUE & HUH T H TNUNST HI Iodd@ HiGU g 3=
Hfgerreti <kl gumar & foe gfaeg foam |

State the declarations of Karachi Session of the Indian National Congress
which committed itself to women’s equality.

OR
Untouchability 1s an extreme and vicious aspect of the caste system.
Explain the various dimensions of untouchability.

Giag™ 1 9=l TS &l IMHA HE o U 81, 3eght TR HgedT et gm

feu U gt <hi ST shifs |
Examine the arguments given by Dr. Ambedkar and Mahatma Gandhi

for the inclusion of Panchayati Raj in the Constitution.

HIEFIRTYT SR TR Teh-gE 8 JEI g8 UfhATT & | foiel=HT hifoy |

Industrialization and Urbanization are linked processes. Discuss.

“194 sraredl ® fohu T HHETRR U | A1YHS Tey 3T Ta=il o fHsqor
T TehdT AT o1 |7 fCU 7T shed <hi A& shilaig |
AT

TSR] 5 AT o TS I hH TRV HLd hl HIRE hl & |
e’ | Sasy |

“What marked these 19" century social reform attempts was the modern
context and mix of ideas.” Interpret the given statement.

OR

Sociologists have tried to define what constitutes modernization.
Elaborate.

P.T.0.
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Y gqaql AUFIY & HRAEIAT ° 18 T2 WIHAT i 3g@ hiT |

Mention the loopholes found in the implementation of the Land Ceiling
Act.

@ ue T
SECTION C

HTYeh! TF H TSN o WIWTE JHIeA H WA shl Thdl <hl SHIT IT JhEM TgaTdl ?
HYAT

AR (Civil) SHTS TSF Wl o¥ AN 3Gk NN o oy ITRERT SHTTT 2 |

HRE.ATS. HHIH & HeH H FRAT hINT |

In your opinion, has the linguistic reorganization of States helped or
harmed India’s unity ?

OR

Civil society makes the State accountable to the nation and its people.
Explain with reference to RTI Act.

3TIHATRTeh ST oh. S0 SITd TEAT § §8 YNadd 37T | SYRSIT shifold |
AT

T AMUehl WAl & foh SIS ATCH TS 8 S TIAT hl DSBS H 3T
TehTeh! STid Siid.-a-2 Tad= T shifg |

The institution of caste underwent major changes during the colonial

period. Explain.
OR

Do you think tribes are primitive communities living 1solated lives
untouched by civilization ? Discuss.

YHSETRLUT AR FY & AU AU [AUTSH o YT shl ARSI Teh 31800 hl
HERIAl 9 shifoly |

HAAT

ISR 3 F&hid hl dgd-H Ikl grIT HTerd foham 8 | faed & 993y |

With the help of an example, explain the impact of globalization and the

New International Division of Labour.
OR

There are many ways globalization affects culture. Elaborate.
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feu U =g i ufeu 3t = fou MU el % I G |

e TGS 1924 H TS BT o IR U : “T 91 o I 9T o1 faiiEd
g, ik Tl w1 faueh =8 § | 8 38 w96 1 T § S 59 1 7 Ll
2 | 3l %1 9 §=H o 0 O5gU 1 A Hd AT e dh foh g TGl
hl ToHT T4 % HSHl W Y@ § A & {070 Heb 7 T S | § 9859 R M
QI ! =M FEdT &, HHaSd o Teh AN o ¢ A8l sfesh Heoh g |
HUfd sl O BIA H ThiAd 8l 8 o1 =T&dl, ok I8 Helsh A H @
AEdl g |

1934 : “Ush TS o Y H Td §H oG bl JYAT & dl 89 9 had SR
TR 1 GHIYE Hid 8 dicsh I8 it =i d 3 o gar) foet oft Tse =l
YU S ) =11 T8l B, R 7Y il g Tl % W ki wurH S

%f’
(31) IS g 9dsU foh ASiO Afieni o fofu fore UehR wHET Icud
il B |

(@) ik HA H 1 fdashed o1 ? T I YA H GO hl K ekl T
Hehdl B ?

Read the passage given and answer following questions.

Gandhi en-Machinery, in Hind Swaraj 1924 : “What I object to is the
craze for machinery, not machinery as such. The craze 1s for what they
call labour-saving machinery. Men go on ‘saving labour’ till thousands
are without work and thrown on the open streets to die of starvation. I
want to save time and labour, not for a fraction of mankind, but for all. I
want the concentration of wealth, not in the hands of the few, but i1n the
hands of all.”

1934 : “When as a nation we adopt the spinning-wheel, we not only solve
the question of unemployment but we declare that we have no intention
of exploiting any nation, and we also end the exploitation of the poor by

the rich.”
(a)  Give an example of how machinery creates a problem for workers.

(b)  What alterative did Gandhi have in mind ? How does adopting the
spinning-wheel prevent exploitation ?
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